MOTORIZED STAGES X-AXIS CROSS ROLLER GUIDE

[High Precision] Motorized X-Axis - Cross Roller

lFeatures:X-Axis Stage excellent in lightweight, compactness and accuracy. @ For CAD data, see the MISUMI website.
Part Number Mechanical Standards Accuracy Standards
_Axi Mot Cabl Stage Travel 5 .1 | Unidirectional| Moment Rigidity ("/Necm)
-X Axis Type No. otor avle Surface | Distance Wei:?h‘ ! Positioning — . ) Pitching | Yawing
(mm) (mm) 9) Accuracy | Pitching | Yawing | Rolling
C(Standard) " "
415 40x40 15 0.3 10pm or less 0.33 0.44 0.37 25 20
PA(a-Step) N(Cable not included (separately sold)) x y
XCR C(Standard) P* (Cable for a-Step Motor)
F(High Torque) For cables separately sold, see MSCB_ 5pm or less / " "
620" | G(High Resolution) | optonon P I-1735.95 £060 2 o Fulstoke | 01 2 iy 20 L
([ Material: Aluminum Alloy PA*(a-Step)
B Surface Treatment: Black Anodize *When the Motor Option PA is selected, the driver is included with as the Set. The cable is available for Option P and is unavailable for Option N (Cable not included).
I AccessoryXCR415: SCB3-16 (4 pcs.) *1. The value is for C Type of Motor.
XCR620: SCB4-16 (4 pcs.)
‘ ¥ ordering | Part Numb M Cabl
(®For Controllers, Handset Terminals, see P. [ll-1735-93~P. [il-1735-94 m Ordering art Number - otor - able z]’g]ip
XCR415-C XCR41 Femie - xeRats - ¢ i .
5- 1025 5-PA 1155
3.5 40 59 3.5 40 72
8-M3, Depth 4 || 16 16 53 8-M3, Depth 4 16_16 I Common Specifications lMax. Speed lMotor/Cable Application Table
s Knob N+ 4 No. 415 ] 620 No. Motor (mm/sec) Motor Cable
© i ‘l: o e = Feed Screw Ball Screw @6, Lead 1 | Ball Screw @8, Lead 1 o) 10 CFG N (Not Provided
S| ] 4 Sl el fi* ¢|: Guide Cross Roller Guide 415 PA 10 3T (Not Provided)
L AW g e o\ ol Positioning repeatability =0.50m =0.3ym = T PA P
= Load Capacity 49N or less
04 (1), Depth 4 N “Lost Motion Tum or less 620 F 20 ®F0fpthle]°ab'39 f;r C,For G, see MSCB_
04 (H7), Depth 5 (From Back) = 04 (H7), Depth 4 _Backlash 0.5um or less G 20 on P kll-1735-95
4-3.5 Through, @6 Counterbore ' 4-3.5 Through, @6 Counterbore 04 (H7), Depth 5 (From Back) grallefism _ 33%‘;"55: PA 20
ISIAIGINESS s (®Note that th d and positioning time diff - .
(M3 Screw Hole) (M3 Screw Hole) Motion Parallelism 10um or less @hota tra o e cucren condtion of vee WlWiring Diagram
The speed and positioning time are not guaranteed eMotor Code: C (Standard), F (High Torque), G (High
sl _THT il = 3 . ) ) values but reference values provided by MISUMI. Resolution) General Connector Pin Configuration
& e - HH o [l Connector Pin Configuration T Wolor Lead (Biue) -
: ; 0TOR
32 4 eMotor Code: C (Standard), F (High Torque), G (High eMotor Code: PA (a-Step) Motor Cable Part Number: CCO30VA2R2 2 | Motor Lead (Red) |————nRed Sensor Circuit Board
Resolution) General Connector Pin Configuration Sensor Pin Configuration 3 | Motor Lead (Orange) ————— s
MAX 106.5 (0range)
. 6 4 | Motor Lead (Green) —————Green|
5 | Motor Lead (Black) ———Black,
5 6 | CWLS Output ORGi
7 | CCWLS Output
XCR620-C 114 XCR620-F 8 | Open ’mg
60 54 9 | Power Supply (+) ‘ Vin s
25__ 25 48 10| ORG Output (ORG1)
8-M4, Depth 5 32 X 11] Power Supply (- oo | —
p ‘ ‘ 8-M4, Depth 5 ‘ 4 12]FG al
[ o [+ Knob o =
Qi + Y ol oMotor Code: PA (a-Step) Sensor Circuit Board
3 2 2e s 3 3 Lo Sensor Connecting Diagram -G8
& . o 8 -
Q ’ &‘Q 777‘\\8 ‘ ’7 ORG],
B4 (47, Dept 4 = Fccws o '
04 (H7), Depth 5 (From Back) gi I T on6 Gt QG e
4-4.5 Through, @8 Counterbore 445 Throuch. 98 é )Yt ebpt 5 (From Back) 4 [NORG Output ﬂv‘" GBS
W14 Screw Hole) -4.5 Through, @8 Counterbore (5 [ Power Supply (+) | V—LEMD L
(M4 Screw Hole) . . 6 | Power Supply (-) e H
=] ,\¢ gl '\f : ; =5 WElectrical Specifications
i - i 7 - Motor © I F I G PA
50 50 Standard | High Torque | High F i Stepping-out Previ
MAX 124 MAX 143.5 Type 5-Phase Stepping Motor 0.75A/Phase a-Step Motor
Mot Part Number C005C-90215P \ PK525HPB-C1 \ PK523HPMB-C1 ARM24SAK
otor Step Angle 0.72° | 0.72° | 0.36° 0.36° (When 1000P/R is sef)
Driver Part Number - ARD-K
XCR620-G 1 XCR620-PA 126 e T Full/Half 2um/Apm [ 2um/1pm [ 1um/0.5pm Tum (When 1000P/R is sef)
& = o 0 esolution (Pulse Micro Step 0.1um (upon 1/20 partitioned) | 0.1pm (upon 1/20 partitioned) | 0.05um (upon 1/20 parfitioned) B
25 25 18 F5 5 1 ] P Part Number HR10A-10J-12P (Hirose Electric Co., LTD.) HR10A-7J-6P (Hirose Electric Co., LTD.)
8-M4, Depth 5 ‘ 32 ‘ 8-M4, Depth 5 35 C i Connector HR10A-10P-12S (Hirose Electric Co., LTD.) HR10A-7P-6S (Hirose Electric Co., LTD.)
S — | 1 Limit Sensor Provided
- ﬁ [ ‘\¢ Knob P e [9 Home Position Sensor (ORG1) Provided
& y Qi ot Slit Home Origin Sensor (ORG2) Not Provided
AP T® A4 - 3 8 73 4| | J Part Number Photomicrosensor: EE-SX4320 (OMRON Corp.)
R — 4‘& /e & Y Sensor Power Supply Voltag DC5~24V +10%
©_ /¢ N o _ /o Current Cor i 60mA o less
Depth 4 4-M3, Depth 5 QX 12| 04 (H7), Depth 4 4-M3, Depth 5 \j][n Control Output NPN Open Collector Output DC5~24V, 8mA or less
04 (H7), Depth 5 (From Back) 04 (H7), Depth 5 (From Back) Residual Voltage 0.3V or less (when load current is 2mA)
4-4.5 Through, @8 Counterbore 4-4.5 Through, @8 Counterbore Output Logic Detecting (Dark): Output Transistor OFF (Non-Cc
(M4 Screw Hole) . (M4 Screw Hole) (®Sensors with Part Number EE-SX4134 will be discontinued and replaced by next-generation products with Part Number EE-SX4320 from November 2018.
= T Mechanical Home Posiion Reverse Side ~ Mechanical
Sl ol % sl [lTiming Chart Cimit He g Lmit
- = CW Limit oW Limit echarca Stoper A N
(®)See the CAD data for 50 oLt otoetoed (it
detailed dimensions. MAX 124 P - M Detected (Lghtbockee)
] ] D Home Sensor Not detected (Light in)
/L'{ Detcted (Lightbocked) —
Reverse Side Edge Home Position Edge (Stroke Genter) oyumy  Nodetoted (Lontin)
Detected (Light blocked)
) ) CW Limit - Stroke Center ~ COW Limit ) )
CW Direction CCW Direction
T'a"e'n?'ij)‘a“ce Reference Position Mechanical Limit CW Limit Home Position 249 Other Signal Edge  CCW Limit Mechanical Limit
15 Homing Position 8.5 7.7 0 2 7.7 8.5
20 Homing Position 11 10.5 0 5 10.5 11
(®Homing Routine Above: When MSCTL102/112 Series controller is used and when the Homing Routine Type 4 is executed.
n 1735 49 (®The coordinates shown are design values. There may be approx. +0.5mm misalignment on the physical dimensions.

(®For details about Homing, see P. [l-1735-97 n' 1 735'50



